INEBFDE 1. 6km YHILE

A
o

F2N— EFH A FilE Eiks
1 67 A 2 6 L3 RC 5 4 02 #®
2 52 INKE)I| R 6 RipE L 5 4 14 B
3 82 hH Bz 6 wETC 5 o 21
4 33 BE¥ ia; 5 HvYAC 5 49 24
5 53 HE FE 6 RUIBELE 5 4 25
6 10 B BX 6 KY & Hx 5 4 33
7 201 NG BR 6 E£ERC 5 4% 36 ®
8 70 B #EX 6 KIERC 5 4 31 ®
9 55 faLl B 4 RpELE 5 49 42 B
10 80 2t A 6 HETC 5 4 46
11 38 BH k= 5 Ardkss 5 4 48 ®
12 11 TE —1F 5 KY & H 5 4 51
13 13 ER 55 5 KY &Y 5 4 51
14 15 h 5 ThiE 3 KY & B 5 4 53 #
15 89 E=N RE 4 mETC 5 45 56 #
16 36 fHE B4 5 LSS 6 & o
17 83 AT &N 5 mETC 6 o 0o
18 37 Bi5 AKX 5 ArdesSs 6 #» 05 ®
19 110 NE /\& 3 J\E/ 6 4 09 #
20 91 Fig S 3 HETC 6 2 11
21 90 H B 3 mETC 6 & 15 ®
22 74 B FOEK 4 KIERC 6 4 18
23 81 InER E 6 mETC 6 % 18 ®
24 39 WE &5 5 frdkss 6 49 24
25 40 B B 4 ;ArdkSs 6 D 25
26 35 B =& 3 frdkss 6 49 26
27 54 /NN 5 RIfEE 6 49 28 ®
28 12 i eE 5 KY & B 6 9 29
29 71 A 18 5 RIERC 6 42 34
30 84 WA JEAEH 5 WETC 6 49 43
31 69 EH 18X 6 JLRRC 6 4 4 B
32 17 He 4% 2 KYE& B 6 49 4 B
33 86 LR BEX 5 mETC 6 4 46 B
34 51 mE &HiF 1 axm|/h 6 o 41
35 87 A BHE 4 mETC 6 9 48 B
36 47 HE#EH 3 =EAAC 6 49 50 ®
37 34 WT B 2 Ardkss 6 4 53 ®
38 14 ik EE 5 KY & B 6 49 57
39 16 Ll {8 3 KY S B 6 o 58
40 57 kB BB 2 RILEE 7 4 05
41 92 KT BN 3 WETC 7 49 01 ®
42 76 &8 BZE 4 *KIERC 7 4 10 b
43 93 KE B3 2 WETC 75 11 B
44 75 FE R 4 XIERC 7 5 26
45 18 BSE eH 2 KY S B 7 5 260 B
46 7 o
47 o o
48 7 o
49 o b

B

+




INZEEFDE 1. 6km YHFILE

FN— EFH A FilE Eiks
1 79 B 795 6 TFES 5 4 29 ®
2 19 f5E 18 6 KY & B 5 49 43
3 78 B B4 4 TFES 5 44 43 ®
4 1205 Faf #s 5 E£ERC 5 4 46
5 63 ME DE 5 JtFERC 5 4 48
6 49 MER EE 5 =EAAC 5 4o 49 B
7 64 Fafs =4I 4 JtFERC 6 4 02
8 44 EE HhY 5 Ardkss 6 4 03 ®
9 59 FELL BEEE 6 RpELE 6 4 03
10 21 ArAETE 6 KY & E 6 & 05
11 103 Bl %A 6 HETC 6 % 06 Fb
12 43 A7k AZ 5 ATdLSS 6 & 07
13 96 B FEE 6 HETC 6 4 09
14 94 Ll = 6 TETC 6 » 14
15 77 FE DHE 3 TFES 6 & 15 ®
16 23 N = 6 KYE& B 6 4 19
17 1206 far X8 5 E£ERC 6 4o 20 ®
18 46 B BE 5 ATdLSS 6 4 20
19 101 INKR TFTH 6 mETC 6 o 20 ®
20 95 B B 6 HEATC 6 4 23
21 107 e A 5 mETC 6 o 26 ®
22 22 BH Ex 6 KY & HY 6 o2 21 ®
23 25 A0 ¥Ex 4 KY & H 6 4 30 #
24 109 RELL DB 4 fETC 6 o 30
25 104 RE KE 5 mETC 6 » 31
26 106 LH E4LE 5 fETC 6 49 36
27 28 K BE 3 KY & H 6 4 36 #
28 32 4R B4T 2 KY &S HL 6 4 38
29 20 RE 2 6 KY & H 6 4 39 #
30 61 AR &K 5 ALLfEE 6 o 39
31 108 Ik B4 4 ETC 6 2 4
32 100 Bl DE 6 fETC 6 9 42 B
33 29 AR FEZ 3 KY & HX 6 o 43
34 24 R F% 5 KYE& B 6 49 471 B
35 41 R ZEhk 4 ;A dESS 6 o 51 #
36 42 WHE el 4 ATdLSS 6 4 54
37 50 AHBE I+ 3 =EIAC 7 5 02 ®
38 30 IR 5 3 KYE& B 7 45 09
39 27 T $ERTE 4 KY S B 7 4 10 ®
40 102 EX B 6 fETC 7 4 13 ®
41 62 FELL fhAm 1 RupE L 7 5 16 B
42 105 KB HEH 5 WETC 7 5 18 B
43 31 EH S 2 KY & B 7 5 21 ®
44 65 REF HATE 4 JLERC 7 5 25 B
45 26 B R 4 KY & 7 4 55 #
46 7 o
47 o o
48 7 o
49 o b
50 7 1




FEEFOIH 3. 1km UYLk

FN— EFH A FilE Eiks
1 1040 2 3 EJCTEE 9 4H 10 ®
2 351 WA E=fE 2 R 9 & 13
3 403 BI BE 3 JLERC 9 4 28 ®
4 356 a8 g 2 i 9 & 34
5 1632 B & 3 EERC 9 4 35
6 332 IR &AH 3 B 9 4 40 B
7 747 iR = 3 J\EEh 9 & 42 B
8 760 &I BROKER 2 J\EEH 9 4o 43 ®
9 335 WA XK— 2 EX(=]es 9 4 46
10 118 BAR X 1 EERC 9 & 46 B
11 461 =i = 2 JtFRC 9 4 48 ®
12 1613 EZ BEX 2 E£ERC 9 4 5 ®
13 788 RBE FiK 3 KY S H 9 4 54
14 802 He Z2H)] 3 KY & B 9 4 54 ®
15 758 HEUE 3R K 2 J\BEth 9 4 571
16 510 aR N\ERK 2 JLERC 9 49 59
17 744 iR Bk 3 J\EBEth 10 4 00 #
18 409 FEXE B} 2 JLERC 0 42 12 #
19 338 g EA 1 EXEls 10 4 15
20 656 EHE HA 2 BEt 10 % 18 #
21 739 MR B 3 J\EEth 10 4 20 #
22 818 it & 2 KY S EL 10 49 24 #
23 815 ¥0O K 1 AR 10 4 24
24 759 WA &z 2 J\BEH 10 49 3 #
25 879 faE HE 1 SHEEH 10 % 36 #
26 667 = 1 BEEmEs 10 4% 38 #
27 462 WA R 3 dL%ERC 10 2 4 B
28 752 F¥ =X 2 J\BEh 0 42 41 #
29 765 &k A 1 J\BEh 10 4 44
30 887 BE B 1 J\BEHH 10 9 471 #
31 704 Ny [FE 2 AR A 10 4 54 #
32 401 BH B 3 JLERC 10 % 56 #
33 669 BHR XE 1 BEmEs 10 % 02 #®
34 813 iR —&F 1 o R 1 4 03 #
35 844 Ak &) 1 h g 11 49 04 #
36 819 Tk WA 2 KYE& B 1M 42 13 #
37 831 mH B 1 Bt "M 45 19 #
38 896 MR & 2 J\EEdh 1M1 49 26 #
39 668 FH B#R 1 BEmEs 1M % 35 ®
40 666 R ey 1 BEms 11 % 40
41 117 Heh HEAE 2 SEFE S 11 4 5 #
42 111 BA EXER 1 BEdt g 11 4% 57
43 817 BAK F3 1 AR 12 4 19 ®
44 7 o
45 7 ﬂ‘
46 7 o
47 7 ﬂ‘
48 7 )
49 » b
50 7 b




h2ELFDE 3. 1km YHILE

FN— EFH e FilE Eiks
1 306 £H #JY 3 L3 RC 10 % 45 #
2 514 ® FE 3 J\BEh 10 % 5 #
3 511 Bl WE 3 J\BEH 10 % 5 #®
4 512 il &% 3 J\EEdh m 2 11 B
5 1823 R BTt 1 EERC 11 % 15
6 716 HE BEE 1 AN 1M 9 18 #
7 520 fBEE T&h 1 J\EErh 1M 4o 25 ®
8 458 KT ETE 1 BEmEs M 2 29 ®
9 519 Bl i 1 J\BE 11 5 40 #®
10 267 FA /NEE 1 IR 11 5 42 ®
11 787 hE X4 2 KY & HY 11 49 42
12 266 NG ALY 2 IRfE R 1M 2 43 ®
13 1664 s HAY 3 E£HERC 11 % 5 #
14 516 iR =& 3 J\BEH 12 49 05 #®
15 269 b iF 1 IR 12 4 25 ®
16 549 EA D 1 ¥R 12 % 33 #®
17 522 +5 X%k 1 J\EEh 12 % 36 #
18 450 mEr HLy 3 BEdbs 12 4 38 #
19 686 Frrlf FE 2 AR 12 4 39 ®
20 264 Al DE 2 IR 12 75 41 #
21 682 ki =N 1 AR 12 5 4
22 268 f2E HE 1 i 12 4 5 #
23 517 h&t BARk 3 J\EBEth 13 4 04 ®
24 681 BH & 1 AR A 13 4% 09 #®
25 1662 hNg BE 3 XERC 13 4 16 #
26 112 ik %D 1 BEdt g 13 4 35 #
27 685 =HE 1K 2 AR 15 45 07 #®
28 7 )
29 v2) o
30 7 1
31 v2) o
32 7 )
33 v2) (2
34 7 o
35 7 [
36 7 )
37 o o
38 7 o
39 o b
40 7 1
41 o o
42 7 o
43 o o
44 7 o
45 yal [
46 7 o
47 o o
48 7 o
49 o b
50 7 1




— % EREFDE 5. 4km JHILE

(3]
o

FN— EFH A FilE Eiks
1 955 B RS EEES 16 % 20 #
2 19 oA IR 2 J\EES 16 4 33
3 197 WA sE=x 2 BEEERE 16 2 34 #
4 109 FE 758 1 BERILS 16 4 42 ®
5 28 AR Jeze 1 J\EES 16 % 45 b
6 7390 INK 2T {BEAC 16 4 55 #
7 20 FE87 MHIR 2 I\EES 16 4 56
8 27 BRX EX 1 J\EES 17 4 02 #®
9 113 Bl & 17 49 11
10 116 T =3t 1 EERILS 17 & 21 #
11 122 ) EXEA 1 BERILS 17 49 23 #
12 22 iy = 2 J\EES 17 9 24
13 21 HHE XiE 2 I\EES 17 4% 26 #
14 112 K% HHER 1 BEEILS 18 4 05 #
15 334 BMA K& 1 BEES 18 & 11 #
16 111 KE = 1 BEHILE 18 4o 18 ®
17 196 R EH 2 EEEE 18 5 34
18 108 25 1 SEEALE 18 4» 37 ®
19 86 IZNL EE 2 BRIt E 18 & 39 #®
20 1873 HEHA 3 BEUK 18 & 4 #
21 933 iR fE— S EB 18 & 47
22 308 AR 1 B2ES 18 4 54 ®
23 93 mwAR EH 2 X =) 19 % 02 #
24 900 Ry Kith SEBU\SREER 19 & 03
25 921 AIE E— HEAC 19 % 04 #
26 326 ic] == R S 1 BNAS 19 4% 10 #
27 110 hE & 1 BEEILE 19 % 10 ®
28 192 Es fEE 1 BEEERE 19 % 19 #
29 299 A0 BiE 1 F=E -1 19 4 22
30 95 i HE 2 BBt E 19 9 24 #
31 301 R Rt 1 BEE 19 45 29 ®
32 307 T ME 1 B5ES 19 %2 4
33 285 He [5E 1 EERHIS 19 4 45
34 156 maLl B 2 BIES 19 4 52 ®
35 300 WA R 1 e 19 4% 53 #
36 84 B BEC 2 SEEILS 20 4 16
37 330 K Bt 1 BREES 20 4 51 ®
38 305 AW & 1 B5EE 21 45 20 ®
39 303 AR EE 1 BEE 21 4o 28 ®
40 7 )
41 ) ﬂ‘
42 o ﬂ‘
43 7 ﬂ‘
44 o ﬂ‘
45 o )
46 el (4
47 7 7
48 n #
49 » b

B

&




— % EBEREZFOE 3. 1Tkm YHI)LE

FN— EFH A FilE FCER%
1 61 AR ZIE 2 EmFILE 10 4 25 #
2 71 £F YA 1 BEILS 10 % 36 ®
3 70 =iE % 1 BEHIS 10 % 40 #
4 1344 LI 1 BEX 10 % 49 #
5 148 AW XH 3 EalRE 10 4 54 ®
6 152 KH BiD 1 EERES 0 42 57 #®
7 77 EH CRE 1 BRIt S 1 4 10 #
8 59 Kk xE 2 BEHIS 11 4 24 #
9 7 TH D& 1 J\EES "m 42 271
10 120 A EF 2 EalRE 11 4 39 #
11 4 mAR FxE 2 J\EES 1M 2 42 B
12 9 KiE BEFH 1 J\EEE m 42 5
13 68 hft ZF 1 BRIt S 12 4 00 #
14 8 B EHR 1 INEE= 12 2 02 ®
15 73 HLE EF 1 Bl S 12 4 03 #®
16 121 e 7E 2 EERE 12 4 08 #
17 65 Bl % 2 BRIt S 12 4% 24 #
18 1295 AN 2 BEX 12 4% 53 ®
19 6 AR FE 2 J\EES 12 4% 59 #
20 58 ma XF 2 BRIt S 12 % 59 #
21 7 o
22 n o
23 7 o
24 n o
25 7 [
26 n o
27 7 o
28 V) ()
29 7 o
30 7 L
31 7 o
32 ) o
33 7 o
34 ) o
35 7 [
36 ) o
37 7 o
38 ) o
39 7 o
40 7 L
41 7 o
42 2 o
43 7 o
44 2 o
45 7 [
46 2 o
47 7 o
48 2 o
49 7 o
50 7 [




